CDA 3103

Assignment #1: Machine Language 
      
Fall 2017  
Pestaina

DUE:  Sunday, November 19
1) Download the source code for Figure 5.17 from the textbook webpage as code1.bin.

· Code x3000 as the program’s load-address in the initial line of the program. 
· Code x3100 for the starting address of the file in the empty line (location x3012)
· Include a Program Identification Paragraph at the start of the program: 

http://users.cis.fiu.edu/~pestaina/asmpip.txt
Use the LC3Edit B button to translate the machine language program into code1.obj.
2) Download verse.asm and rhyme.asm from the class page, 
· Use the LC3Edit asm button to assemble into verse.obj and rhyme.obj.
3) [50 points] Start the LC3 simulator:






     
· Load verse.obj and code1.obj into memory (at x3100 and x3000 respectively)
· Set a breakpoint at the Halt instruction and run the program to count the number of ‘i’ characters. The count should be 8.
· Set breakpoints at the Halt and Increment R3 instructions. Run the program again and complete the table to show R2 and R3 (in hex) at each breakpoint.
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4) [25 points] Extend code1.bin to build a list in memory of the addresses where the ‘i’ matches occur. Start the list at x3500. Save your modified program as code2.bin. 
5) [25 points] The program output is correct only when the count is a single digit 0... 9. Extend code2.bin to work for any 2-digit count (up to 99). You must divide the final count by 10 to get the quotient and remainder - the two digits to be printed. Save the modified program as code3.bin. Test it on both verse.obj and rhyme.obj.
6) To turn in your assignment

· Fill in your name and student# on the following line
Your Name: ____________________________ 
Student #: ______________
· Zip this work-sheet, and your code1.bin, code2.bin and code3.bin source files.

· Upload your zipped-file in SCIS-Moodle: https://moodle.cis.fiu.edu/ by the due date. Late submissions will not be accepted.
